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ASSIGNMENT NO: 1

SETS (SUBJECTIVE)

1. Describe the following sets in roster form :

a) A={XIXEzandXZSZ5}

b) B={XZXGZand—l—21$XSl—21}

,1<n<5ne N}

d D= {x . X positive integer less than10and (2X —1) isanodd number}

e) E={XZX2+7X—8=0,XG R}

2. Describe the following sets in set builder form :

1234}

a) A= 07_!_’_1_
6789

b) B= g1§!i’£l£1l’£
3 815 24 35 48 63



d) D={25,10,17,26,37,50}

e) E ={15,20,25,30,35,40,45,50}

3. Let A={x: X+5—5=4X_40
X—7 13—-Xx

} Is A an empty set? Justify your answer.



4. 1f A={1,2,58,11,12,19} ,B={3,5,8,30,45} and C ={1,5,8} ,then verify the

following results.

i) A-(BUC)=(A-B)N(A-C)

i) AN(B-C)=(ANB)-(ANC)

5. If U = set of all digits in our decimal system, A = {x: x is prime}and

B = {x:x is a perfect square}then verify that

i) (AUB)=ANB'

iy (ANB) =A'UB’



6. If n(AUB)=15,n(A)=8andn(B)=12 .Use Venn diagram to find the

following

i) n(A)

i) n(B)

i) n(ANB')

iv) n(A'NB)

7. Asurvey was conducted on 100 customers and it was found that 65 liked product
X and 38 customers liked product. Find the least number of customers that must

have liked both products.

8. Inasurvey it was found that 21 people liked product A, 26 liked B and 29 liked
product C .If 14 people liked products A and B, 12 people liked products C and
A, 14 people liked products B and C and 8 liked all the three products, find how
many liked product C only.



9. Out of 100 students of class X1 ,40 participated in a rally , 15 participated in
street play,20 participated in group song , 5 participated in both rally and street
play , 3 participated in both street play and group song, 1 participated in rally
and group song , none of them participated in all three activities . Find the
number of students who did not participate in any of these activities.

(DAV BOARD 2017)

10. For any two sets A and B, Prove that P(A) = P(B)=>A=B where P(A) and P(B)
denote power sets of A and B respectively. How many elements are there in
P(P())?

(DAV BOARD 2017)



11. For any three sets A,B and C, show that If Ac B then C-B cC-A
(DAV BOARD 2018)

12. In a group of students, half the number of students know Hindi, —23 of them know

English, 10 know both the languages and 6 students do not know either Hindi or
English. Find how many students are there in the group. (DAV BOARD 2018)



13. Given that A={2XZXE N, 1< x<4}
B={x+2:xeN,2< x<6}
Find B- A (DAV BOARD 2019 )

14. Using properties of sets, prove that for all sets A and B
(ANB)U(A-B)=A (DAV BOARD 2019)

15. Show that AUB = ANB implies A=B ( DAV BOARD 2019)

16. In a group of 50 students, 14 drinks orange juice but not eat apple, 30 drink
orange juice and each student like at least one of them. Find
i.  How many drinks orange juice as well as eat apple?
ii.  How many eat apple but not drink orange juice? ( DAV BOARD 2019)



17. From 50 students taking examinations in Mathematics, Physics and Chemistry,
each of the student has passed in atleast one of the subject, 37 passed
Mathematics, 24 Physics and 43 Chemistry. Atmost 19 passed Mathematics and
Physics, at most 29 Mathematics and Chemistry and atmost 20 Physics and
Chemistry, What is the largest possible number that could have passed all the
three examination? (DAV BOARD 2020)



ASSIGNMENT NO: 1
SETS (OBJECTIVE)
Q1. Theset AUBUC)N(ANB' N C")nC'isequal to
a)BncC b) AN c)BUC d)AncC

Q2. Let A, Ay, ... ... ... A3 are thirty sets each having 5 elements and B4, B, ..... B, are
n sets each with 3 elements. Let U7% A; = U}, B; = S and each element of S
belongs to exactly 10 of the A4;'s and exactly 9 of the B]'-s , then value of n is
a) 15 b) 3 c) 45 d) 35

Q3. Two finite sets have m and n elements. The number of subsets of first set is 112
more than that of the second set.The values of m and n are respectively :

a) 4,7 b) 7, 4 c) 4,4 d) 7,7

Q4. Theset (AN B")'uU (BN C) is equal to

a)A'UBU byA'uB cgA'uc dA'nB

Q5. In aclass of 60 students, 25 students play cricket and 20 students play tennis and
10 students play both the games. Then, the number of students who play neither is
a)o0 b) 25 c) 35 d) 45

Q6. A survey shows that 63% of the people watch a news channel whereas 76% watch
another channel. If x % of the people watch both channel, then
a)x=35 b) x =63 €)39<x <63 d) x =139

Q7. In a town of 840 persons,450 person read Hindi, 300 read English and 200 read
both. Then the number of persons who read neither is
a) 210 b) 290 c) 180 d) 260

Q8. Let S={x: x is a positive multiple of 3 less than 100} and

P={x: x is a prime number less than 20}.Then n(S) + n(P) is

a) 34 b) 31 c) 33 d) 30

Q9. If A and B are finite sets such that A c B, thenn (AU B) =

Q10. If A and B are any two sets, then A - B =

Q1L IfX={ 8"-7n-1,ne N} ,Y ={49n - 49, ne N }, then

aXcY byXc Y ) XN Y=¢ dX =Y
Q12. If A and B are two set, then An ( AUB) equals

a)A b) B c) ¢ d AN B
Q13. If n( A) =115, n (B) = 326 and n( A — B) =47, then n( AuB) =

a)135 b)142 ¢) 373 d) 345
(DAV BOARD 2020)



Q4. IfA={x:xeR,x<5}andB={x:XeER,x>4}then An B

a) (3,5) b) (4,2) c) (4,5) d) (5,4)

Q15. Given two finite sets, A and B such that n(A) = 3 and n(B) = 6. The minimum
number of elementsin AU B is

a) 3 b) 6 c) 9 d) 18
(DAV BOARD 2020)



